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HResao 1 Bewm 2
T— 4+ 5 2 aonin. 80 + 10 X 5 & DS
T—4+5=3+5 80 10 x5=8x5
=8 =40
Hewm 3 Hewmm 4
4x 6 + 3 xd nisim. 25+ 10 — 7 130 mSBIm.
46 -3=24 -3 25+ 10 —7=35—-17
Betg 5 Betam 6
28+ 2 — 3 130 BOBIm. 50 — 10 x 3 @& D»OBIm.
282 —3=14 — 3 50— 10 x 3 =50 — 30
=11 =20
Hegm T Hewam 8
18 X 5 — 62 & @SHIm. 50 —10 + 2 38 »OHIH.
I8 x 5 —62=90 — 62 0—10+2=50-5
=728 =45
Reesm 9 Heggm 10
5463+ 2 10 @osim. 2% 12 +3 X 5 530 oI
5+6+3+2=5+2+2 2x 12 +3x5=24+-3x5
=9 =8 x 5=40
20 = (12 —7) ©3® »SBIm. 5% (10 +12) + 11 0& zS5Im.
20-(12 —7)=20+5=4 5x(10+12)+-11=5=22 =11
=110 =11 =10
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